Sr

10

1"

12

13

14

15

Questions

SIS e L S cme Gl 05 S o o€ (S G ) G e (K55 (lee s e o

oy

= i 18 S8 S al RIS gl Jeli a3 50

Jo A X Dy s LSS p le 5me

WS Jag S Ssbue (el (S )

o IS 2l (S IS ) (e Al (SO

E g i) el L S 5 st S S st S Giid S ke ol g1 9131 S0

O S Calias (S Jelii (€ S 4 gy S (IS e g sl il

= s Bl LS e 0 S ) G 0 Jeli e g3 sn S Jeldll jeuine S

o dulas s st i (K 53 e D

= e LS S S (e s eaelil s Ak e i a5 S 3 g (golaas

O S S ol e Bl (e 0258 (i S N se i S ik e

2 UUSUS S i S i et ol s S (S Slae] s s L

=88 GSailar (S el and Cipa 1S 55 K L oS

Answers Choice

A

COmP» UO® P UDOWP UOWr UOWP UOWP U0Wr UOWP U0Wr U0WP U0U» U0UP UOWP 0OW» 000

mx<Z<

N
e Jaiie
sl
i

q+3p-6=0
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3p-q=12
q-1200=-4p
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